

# On the Oscillation, the Convergence, and the Boundedness of Solutions for a Neutral Difference Equation

Dinh Cong Huong\*

*Dept. of Math, Quy Nhon University 170 An Duong Vuong, Quynhon, Binh Dinh, Vietnam*

Received 14 April 2009

**Abstract.** In this paper, the oscillation, convergence and boundedness for neutral difference equations

$$\Delta(x_n + \delta_n x_{n-\tau}) + \sum_{i=1}^r \alpha_i(n) F(x_{n-m_i}) = 0, \quad n = 0, 1, \dots$$

are investigated.

*Keyword:* Neutral difference equation, oscillation, nonoscillation, convergence, boundedness.

## 1. Introduction

Recently there has been a considerable interest in the oscillation of the solutions of difference equations of the form

$$\Delta(x_n + \delta x_{n-\tau}) + \alpha(n)x_{n-\sigma} = 0,$$

where  $n \in \mathbb{N}$ , the operator  $\Delta$  is defined as  $\Delta x_n = x_{n+1} - x_n$ , the function  $\alpha(n)$  is defined on  $\mathbb{N}$ ,  $\delta$  is a constant,  $\tau$  is a positive integer and  $\sigma$  is a nonnegative integer, (see for example the work in [1-7] and the references cited therein).

In [2], the author obtained some sufficient criterions for the oscillation and convergence of solutions of the difference equation

$$\Delta(x_n + \delta x_{n-\tau}) + \sum_{i=1}^r \alpha_i(n) F(x_{n-m_i}) = 0,$$

for  $n \in \mathbb{N}$ ,  $n \geq a$  for some  $a \in \mathbb{N}$ , the operator  $\Delta$  is defined as  $\Delta x_n = x_{n+1} - x_n$ ,  $\delta$  is a constant,  $\tau, r, m_1, m_2, \dots, m_r$  are fixed positive integers, and the functions  $\alpha_i(n)$  are defined on  $\mathbb{N}$  and the function  $F$  is defined on  $\mathbb{R}$ .

Motivated by the work above, in this paper, we aim to study the oscillation and asymptotic behavior for neutral difference equation

$$\Delta(x_n + \delta_n x_{n-\tau}) + \sum_{i=1}^r \alpha_i(n) F(x_{n-m_i}) = 0, \tag{1}$$

where  $\delta_n$ ,  $n \in \mathbb{N}$  is not zero for infinitely many values of  $n$  and  $F : \mathbb{R} \rightarrow \mathbb{R}$  is continuous.

\* Corresponding author. Tel.: 0984769741  
E-mail: dinhconghuong@qnu.edu.vn

Put  $A = \max\{\tau, m_1, \dots, m_r\}$ . Then, by a solution of (1) we mean a function which is defined for  $n \geq -A$  and satisfies the equation (1) for  $n \in \mathbb{N}$ . Clearly, if

$$x_n = a_n, \quad n = -A, -A+1, \dots, -1, 0$$

are given, then (1) has a unique solution, and it can be constructed recursively.

A nontrivial solution  $\{x_n\}_{n=n_0}$  of (1) is called oscillatory if for any  $n_1 \geq n_0$  there exists  $n_2 \geq n_1$  such that  $x_{n_2}x_{n_2+1} \leq 0$ . The difference equation (1) is called oscillatory if all its solutions are oscillatory. If the solution  $\{x_n\}_{n=n_0}$  is not oscillatory then it is said to be nonoscillatory. Equivalently, the solution  $\{x_n\}_{n=n_0}$  is nonoscillatory if it is eventually positive or negative, i.e. there exists an integer  $n_1 \geq n_0$  such that  $x_nx_{n+1} > 0$  for all  $n \geq n_1$ .

## 2. Main results

To begin with, we assume that

$$xF(x) > 0 \text{ for } x \neq 0. \quad (2)$$

By an argument analogous to that used for the proof of Lemma 3, Theorem 6 and Theorem 7 in [2], we get the following results.

**Lemma 1.** Let  $\{x_n\}$  be a nonoscillatory solution of (1). Put  $z_n = x_n + \delta_n x_{n-\tau}$ .

(i) If  $\{x_n\}$  is eventually positive (negative), then  $\{z_n\}$  is eventually nonincreasing (nondecreasing).

(ii) If  $\{x_n\}$  is eventually positive (negative) and there exists a constant  $\gamma$  such that

$$-1 < \gamma \leq \delta_n, \quad \forall n \in \mathbb{N}$$

then eventually  $z_n > 0$  ( $z_n < 0$ ).

**Theorem 1.** Suppose there exist positive constants  $\alpha_i$  ( $i = 1, 2, \dots, r$ ) and  $M$  such that

$$\alpha_i(n) \geq \alpha_i, \quad \forall n \in \mathbb{N},$$

$$|F(x)| \geq M|x|, \quad \forall x,$$

$$\delta_n \geq 0, \quad \forall n \in \mathbb{N}.$$

Then, every nonoscillatory solution of (1) tends to 0 as  $n \rightarrow \infty$ .

**Theorem 2.** Assume that

$$\sum_{\ell=1}^{\infty} \sum_{i=1}^r \alpha_i(\ell) = \infty, \quad (3)$$

and there exists a constant  $\eta$  such that

$$-1 < \eta \leq \delta_n \leq 0, \quad \forall n \in \mathbb{N}. \quad (4)$$

Suppose further that, if  $|x| \geq c$  then  $|F(x)| \geq c_1$  where  $c$  and  $c_1$  are positive constants. Then, every nonoscillatory solution of (1) tends to 0 as  $n \rightarrow \infty$ .

**Theorem 3.** Assume that the given hypotheses in Theorem 2 are satisfied. If  $F$  is a nondecreasing function such that

$$\int_0^\alpha \frac{dt}{F(t)} < \infty \text{ and } \int_{-\alpha}^0 \frac{dt}{F(t)} > -\infty \text{ for all } \alpha > 0, \quad (5)$$

then the equation (1) is oscillatory.

*Proof.* Suppose that (1) has a nonoscillatory solution  $\{x_n\}$ . If  $x_n > 0$  for  $n \geq n_0$ , then by Lemma 1 there exists a  $n_1 \geq n_0$  such that  $x_{n-\tau} > 0, x_{n-m_i} > 0$  ( $1 \leq i \leq r$ ),  $z_n > 0$  and  $\Delta z_n \leq 0$  for  $n \geq n_1$ . Put  $z_n = x_n + \delta_n x_{n-\tau}$  and  $m_* = \max_{1 \leq i \leq r} m_i$ . We note that (4) implies that  $z_n \leq x_n$  and from (1), we have

$$\Delta z_n + \sum_{i=1}^r \alpha_i(n) F(z_{n-m_i}) \leq 0$$

and so

$$\Delta z_n + \sum_{i=1}^r \alpha_i(n) F(z_n) \leq 0 \quad \text{for } n \geq n_2 = n_1 + m_*$$

or

$$\sum_{i=1}^r \alpha_i(n) \leq -\frac{\Delta z_n}{F(z_n)} \quad \text{for } n \geq n_2 = n_1 + m_*.$$

Now for  $z_{n+1} \leq t \leq z_n$  we have  $F(t) \leq F(z_n)$ , and so

$$\sum_{i=1}^r \alpha_i(n) \leq \int_{z_{n+1}}^{z_n} \frac{dt}{F(t)} \quad \text{for } n \geq n_2.$$

Summing both sides of the above inequality from  $n_2$  to  $n$  and taking the limit as  $n \rightarrow \infty$ , we get

$$\sum_{\ell=n_2}^{\infty} \sum_{i=1}^r \alpha_i(\ell) \leq \int_{z_{n+1}}^{z_{n_2}} \frac{dt}{F(t)} < \int_0^{z_{n_2}} \frac{dt}{F(t)} < \infty,$$

which contradicts (3). The proof for the case  $\{x_n\}$  eventually negative is similar.

**Example 1.** Consider the difference equation

$$\Delta \left( x_n + \frac{1-n}{2n} x_{n-2} \right) + \sum_{i=1}^2 \frac{1}{n+i} x_{n-i}^{\frac{1}{3}} = 0, \quad n \geq 1. \quad (6)$$

It is clear that this equation is a particular case of (1), where  $\delta_n = \frac{1-n}{2n}$ ,  $\alpha_i(n) = \frac{1}{n+i}$ ,  $\forall n \in \mathbb{N}, i = 1, i = 2$  and  $F(x) \equiv x^{\frac{1}{3}}$ .

It is easy to verify that all conditions of Theorem 3 hold. Hence, the equation (6) is oscillatory.

**Theorem 4.** Assume that the first and the third condition in Theorem 2 are satisfied and there exists constants  $\sigma, \mu$  such that

$$\mu \leq \delta_n \leq \sigma < -1. \quad (7)$$

Suppose further that,  $\tau > m_* = \max_{1 \leq i \leq r} m_i$  and  $F$  is a nondecreasing function such that

$$\int_\epsilon^\infty \frac{dt}{F(t)} < \infty \text{ and } \int_{-\infty}^{-\epsilon} \frac{dt}{F(t)} < \infty \text{ for all } \epsilon > 0, \quad (8)$$

then the equation (1) is oscillatory.

*Proof.* Suppose that (1) has a nonoscillatory solution  $\{x_n\}$ ,  $x_n > 0$  for  $n \geq n_0$ . From Lemma 1 there exists a  $n_1 \geq n_0$  such that  $x_{n-\tau} > 0$ ,  $x_{n-m_i} > 0$  ( $1 \leq i \leq r$ ),  $z_n < 0$  and  $\Delta z_n \leq 0$  for  $n \geq n_1$ . Then from (7) we have

$$\mu x_{n-\tau} \leq \delta_n x_{n-\tau} < z_n < 0$$

and hence

$$0 < \frac{z_{n+\tau}}{\mu} < 0, \quad \text{for } n \geq n_1.$$

Thus, it follows that

$$F\left(\frac{z_{n+\tau-m_i}}{\mu}\right) \leq F(x_{n-m_i}) \quad \text{for } n \geq n_2 \geq n_1 + m_*, 1 \leq i \leq r.$$

Since  $n + \tau - m_i \geq n + 1$ ,  $1 \leq i \leq r$  the above inequality gives

$$F\left(\frac{z_{n+1}}{\mu}\right) \leq F\left(\frac{z_{n+\tau-m_i}}{\mu}\right) \leq F(x_{n-m_i}), \quad 1 \leq i \leq r.$$

Hence, from (1) we find

$$\Delta z_n + \sum_{i=1}^r \alpha_i(n) F\left(\frac{z_{n+1}}{\mu}\right) \leq 0$$

or

$$\sum_{i=1}^r \alpha_i(n) \leq -\frac{\Delta z_n}{F\left(\frac{z_{n+1}}{\mu}\right)} \quad \text{for } n \geq n_2. \quad (9)$$

Now for  $\frac{z_n}{\mu} \leq t \leq \frac{z_{n+1}}{\mu}$  we have  $F\left(\frac{z_{n+1}}{\mu}\right) \geq F(t)$ , and so

$$\frac{1}{\mu} \frac{\Delta z_n}{F\left(\frac{z_{n+1}}{\mu}\right)} \leq \int_{\frac{z_n}{\mu}}^{\frac{z_{n+1}}{\mu}} \frac{dt}{F(t)} \quad \text{for } n \geq n_2. \quad (10)$$

Using (10) in (9) and summing both sides from  $n_2$  to  $n$  and taking the limit as  $n \rightarrow \infty$ , we get

$$\sum_{\ell=n_2}^{\infty} \sum_{i=1}^r \alpha_i(\ell) \leq -\mu \int_{\frac{z_{n_2}}{\mu}}^{\frac{z_{n+1}}{\mu}} \frac{dt}{F(t)} \quad \text{for } n \geq n_2.$$

But this in view of (8) contradicts (7). The proof for the case  $\{x_n\}$  eventually negative is similar.

**Example 2.** Consider the difference equation

$$\Delta\left(x_n - \frac{1+2n}{n}x_{n-2}\right) + \sum_{i=1}^2 \frac{i}{n+i}x_{n-i}^3 = 0, \quad n \geq 1. \quad (11)$$

It is clear that this equation is a particular case of (1), where  $\delta_n = -\frac{1+2n}{n}$ ,  $\alpha_i(n) = \frac{i}{n+i}$ ,  $\forall n \in \mathbb{N}$ ,  $i = 1, i = 2$  and  $F(x) \equiv x^3$ .

It can be verified that all conditions of Theorem 4 hold. Hence, the equation (11) is oscillatory.

**Theorem 5.** Suppose that  $\delta_n \geq 0$ ,  $n \in \mathbb{N}$ . Then, all unbounded solutions of the equation (1) are oscillatory.

*Proof.* Suppose the contrary. Without loss of generality, let  $\{x_n\}$  be an unbounded and eventually positive solution of (1). By Lemma 1, we have  $z_n > 0$  and  $\Delta z_n \leq 0$  eventually. Hence, there exists  $\lim_{n \rightarrow \infty} z_n$ . Put  $\lim_{n \rightarrow \infty} z_n = \beta$ . We have

$$\beta \in [0, \infty). \quad (12)$$

Now, in view of  $\delta_n \geq 0$ ,  $n \in \mathbb{N}$  we have  $z_n \geq x_n$  and (12) show that  $\{x_n\}$  is bounded, which is a contradiction.

From now we always assume that

$$xF(x) < 0 \text{ for } x \neq 0. \quad (13)$$

**Theorem 6.** Assume that  $\delta_n \geq 0$ ,  $n \in \mathbb{N}$ ,  $\sum_{\ell=1}^{\infty} \sum_{i=1}^r \alpha_i(\ell) < \infty$  and  $F$  is nonincreasing. Suppose further that

$$\int_c^{\infty} \frac{dt}{F(t)} = -\infty \text{ and } \int_{-\infty}^{-c} \frac{dt}{F(t)} = \infty \text{ for all } c > 0. \quad (14)$$

Then, all nonoscillatory solutions of the equation (1) are bounded.

*Proof.* Let  $\{x_n\}$  be a nonoscillatory solution of (1), and let  $n_0 \in \mathbb{N}$  be such that  $|x_n| \neq 0$  for all  $n \geq n_0$ . Assume that  $x_n > 0$  for all  $n \geq n_0$ . Put  $m_* = \max_{1 \leq i \leq r}$  and  $n_1 = n_0 + \tau + m_*$ . We have  $x_{n-\tau-m_i} > 0$  for all  $n \geq n_1$  and  $1 \leq i \leq r$ . Put  $z_n = x_n + \delta_n x_{n-\tau}$ . We have  $z_n > 0$  and  $\Delta z_n = -\sum_{i=1}^r \alpha_i(n)F(x_{n-m_i}) \geq 0$  for all  $n \geq n_1$ . Hence,  $\{z_n\}$  is nondecreasing and satisfies  $z_n \geq x_n$  for all  $n \geq n_1$ . Therefore, we find

$$\begin{aligned} \Delta z_n = -\sum_{i=1}^r \alpha_i(n)F(x_{n-m_i}) &\leq -\sum_{i=1}^r \alpha_i(n)F(z_{n-m_i}) \\ &\leq -\sum_{i=1}^r \alpha_i(n)F(z_n), \end{aligned}$$

or

$$-\frac{\Delta z_n}{F(z_n)} \leq \sum_{i=1}^r \alpha_i(n), \quad \forall n \geq n_1. \quad (15)$$

Since  $t \in [z_n, z_{n+1}]$ ,  $F(t) \leq F(z_n)$ . By (15) we obtain

$$-\int_{z_n}^{z_{n+1}} \frac{dt}{F(t)} \leq -\frac{\Delta z_n}{F(z_n)} \leq \sum_{i=1}^r \alpha_i(n), \quad \forall n \geq n_1. \quad (16)$$

Summing the inequality (16) from  $n_1$  to  $n-1$  and taking the limit as  $n \rightarrow \infty$ , we have

$$-\int_{z_{n_1}}^{z_n} \frac{dt}{F(t)} \leq \sum_{\ell=n_1}^{n-1} \sum_{i=1}^r \alpha_i(\ell). \quad (17)$$

From (17) and the hypothesis of Theorem 6 we find that  $\{z_n\}$  is bounded from above. Since  $0 < x_n \leq z_n$ ,  $\{x_n\}$  is also bounded from above. The proof is similar when  $\{x_n\}$  is eventually negative.

**Example 3.** Consider the difference equation

$$\Delta(x_n + 2^n x_{n-2}) + \sum_{i=1}^2 \frac{1}{(i+1)^n} (-x_{n-i}^{\frac{1}{3}}) = 0, \quad n \geq 1. \quad (18)$$

It is clear that this equation is a particular case of (1), where  $\delta_n = 2^n$ ,  $\alpha_i(n) = \frac{1}{(i+1)^n}$ ,  $\forall n \in \mathbb{N}$ ,  $i = 1, i = 2$  and  $F(x) \equiv -x^{\frac{1}{3}}$ .

It can be verified that all conditions of Theorem 6 hold. Hence, all nonoscillatory solutions of the equation (18) are bounded.

**Corollary.** Suppose that the assumptions of Theorem 6 hold. Further, suppose that  $\{\delta_n\}$  tends to 0 as  $n \rightarrow \infty$ . Then, every nonoscillatory solution of (1) tends to 0 as  $n \rightarrow \infty$ .

*Proof.* Let  $\{x_n\}$  be an eventually positive solution of (1). By Theorem 6,  $\{z_n\}$  is eventually positive, nondecreasing and bounded above. Thus, there exists a constant  $C > 0$  such that

$$\delta_n x_{n-\tau} < z_n < C$$

for sufficiently large  $n$ . Hence,

$$x_{n-\tau} < \frac{C}{\delta_n} \rightarrow 0 \text{ as } n \rightarrow \infty.$$

**Theorem 7.** Assume that

$$\sum_{\ell=1}^{\infty} \sum_{i=1}^r \alpha_i(\ell) = \infty, \quad (19)$$

and there exists a constant  $\delta > 0$  such that

$$\delta_n \leq \delta, \quad \forall n \in \mathbb{N}. \quad (20)$$

Suppose further that, if  $|x| \geq c$  then  $|F(x)| \geq c_1$  where  $c$  and  $c_1$  are positive constants. Then, for every bounded nonoscillatory solution  $\{x_n\}$  of (1) we have

$$\liminf_{n \rightarrow \infty} |x_n| = 0.$$

*Proof.* Assume that,  $\{x_n\}$  is a bounded nonoscillatory solution of (1). Then, there exists constants  $c, C > 0$  such that  $c \leq x_n \leq C$  for all  $n \geq n_0 \in \mathbb{N}$ . It implies that

$$z_n \leq (1 + \delta)C. \quad (21)$$

Put  $m_* = \max_{1 \leq i \leq r}$  and  $n_1 = n_0 + \tau + m_*$ . We have  $x_{n-\tau-m_i} \geq c$  for all  $n \geq n_1$  and  $1 \leq i \leq r$ . By the hypothesis of Theorem 7, there exists a constant  $c_1 > 0$  such that  $|F(x_{n-m_i})| \geq c_1$  for all  $n \geq n_1$  and  $1 \leq i \leq r$ . Thus,

$$\Delta z_n = - \sum_{i=1}^r \alpha_i(n) F(x_{n-m_i}) \geq \sum_{i=1}^r \alpha_i(n) c_1, \quad \forall n \geq n_1. \quad (22)$$

Summing the inequality (22) from  $n_1$  to  $n-1$ , we obtain

$$z_n = z_{n_1} + c_1 \sum_{\ell=n_1}^{n-1} \sum_{i=1}^r \alpha_i(\ell) \rightarrow \infty \text{ as } n \rightarrow \infty,$$

which contradicts (22). The proof is complete.

**Example 4.** Consider the difference equation

$$\Delta\left(x_n + \frac{2n-1}{n}x_{n-1}\right) + \sum_{i=1}^2 \frac{1}{n+i}(-x_{n-i}^\alpha) = 0, \quad n \geq 1, \quad (23)$$

where  $\alpha$  is an odd integer. It is clear that this equation is a particular case of (1), where  $\delta_n = \frac{2n-1}{n}$ ,  $\alpha_i(n) = \frac{1}{n+i}$ ,  $\forall n \in \mathbb{N}$ ,  $i = 1, 2$  and  $F(x) \equiv -x^\alpha$ .

It can be verified that all conditions of Theorem 7 hold.

**Theorem 8.** Assume that the conditions (3), (7) hold and  $F$  is a nonincreasing function such that

$$\int_0^\alpha \frac{dt}{F(t)} < \infty \text{ and } \int_{-\alpha}^0 \frac{dt}{F(t)} > -\infty \text{ for all } \alpha > 0.$$

Further, suppose that  $m_i \geq \tau$ ,  $\forall 1 \leq i \leq r$ . Then, every nonoscillatory solution  $\{x_n\}$  of (1) satisfies  $|x_n| \rightarrow \infty$  as  $n \rightarrow \infty$ .

*Proof.* Let  $\{x_n\}$  be a nonoscillatory solution of (1). Assume that  $\{x_n\}$  is eventually positive. Then, there exists  $n_0 \in \mathbb{N}$  such that  $x_{n-\tau-m_i} > 0$  for all  $n \geq n_0$  and  $1 \leq i \leq r$ . Put  $z_n = x_n + \delta_n x_{n-\tau}$ . Then, since  $\Delta z_n = -\sum_{i=1}^r \alpha_i(n) F(x_{n-m_i}) \geq 0$  for all  $n \geq n_0$ ,  $\{z_n\}$  is nondecreasing for  $n \geq n_0$ . Therefore,  $z_n \rightarrow L > -\infty$  as  $n \rightarrow \infty$ . If  $L \leq 0$  then  $z_n < 0$  for all  $n \geq 0$  and hence

$$0 > z_n = x_n + \delta_n x_{n-\tau} > \eta x_{n-\tau}, \quad n \geq n_0.$$

It implies  $z_{n+\tau} > \eta x_n$ ,  $n \geq n_0$  or  $x_n > \frac{z_{n+\tau}}{\eta}$ ,  $n \geq n_0$ . Now since  $m_i \geq \tau$ ,  $\forall 1 \leq i \leq r$  and  $F$  is nonincreasing, we have

$$\Delta z_n \geq -\sum_{i=1}^r \alpha_i(n) F\left(\frac{z_{n+\tau-m_i}}{\eta}\right) \geq -\sum_{i=1}^r \alpha_i(n) F\left(\frac{z_n}{\eta}\right),$$

or

$$-\frac{\Delta z_n}{F\left(\frac{z_n}{\eta}\right)} \geq \sum_{i=1}^r \alpha_i(n).$$

Now for  $\frac{z_{n+1}}{\eta} \leq t \leq \frac{z_n}{\eta}$  we have  $-\frac{1}{F(t)} \geq -\frac{1}{F\left(\frac{z_n}{\eta}\right)}$ , and so

$$-\int_{\frac{z_{n+1}}{\eta}}^{\frac{z_n}{\eta}} \frac{dt}{F(t)} \geq -\int_{\frac{z_{n+1}}{\eta}}^{\frac{z_n}{\eta}} \frac{1}{F\left(\frac{z_n}{\eta}\right)} \sum_{i=1}^r \alpha_i(n) = -\frac{\Delta z_n}{(-\eta)F\left(\frac{z_n}{\eta}\right)} \quad \text{for } n \geq n_0,$$

or

$$\eta \int_{\frac{z_{n+1}}{\eta}}^{\frac{z_n}{\eta}} \frac{dt}{F(t)} \geq -\frac{\Delta z_n}{F\left(\frac{z_n}{\eta}\right)} \geq \sum_{i=1}^r \alpha_i(n) \quad \text{for } n \geq n_0. \quad (24)$$

Summing both sides of the inequality (24) from  $n_0$  to  $n$  and taking the limit as  $n \rightarrow \infty$ , we get

$$\eta \int_{\frac{L}{\eta}}^{\frac{z_{n_0}}{\eta}} \frac{dt}{F(t)} \geq \sum_{\ell=n_0}^{\infty} \sum_{i=1}^r \alpha_i(\ell),$$

which contradicts (3). Thus,  $L > 0$ . Now let  $n_1 \geq n_0$  be such that  $0 < z_n \leq x_n + \sigma x_{n-\tau}$  for  $n \geq n_1$ . Then,  $x_n \geq -\sigma x_{n-\tau}$  and by induction, we have  $x_{n+j\tau} \geq (-\sigma)^j x_{n-\tau}$  for each positive integer  $j$ . This implies that  $x_n \rightarrow \infty$  as  $n \rightarrow \infty$ . The proof is similar when  $\{x_n\}$  is eventually negative.

**Example 5.** Consider the difference equation

$$\Delta \left( x_n - \frac{2+3n}{2n} x_{n-1} \right) + \sum_{i=1}^2 \frac{1}{n+i} (-x_{n-i}^{\frac{1}{3}}) = 0, \quad n \geq 1. \quad (25)$$

It is clear that this equation is a particular case of (1), where  $\delta_n = -\frac{2+3n}{2n}$ ,  $\alpha_i(n) = \frac{1}{n+i}$ ,  $\forall n \in \mathbb{N}$ ,  $i = 1, i = 2$  and  $F(x) \equiv -x^{\frac{1}{3}}$ .

It can be verified that all conditions of Theorem 8 hold.

**Acknowledgement.** The authors would like to thank the referees for the careful reading and helpful suggestions to improve this paper.

## References

- [1] R.P. Agarwal, Difference Equations and Inequalities, Theory, Methods, and Applications, *Marcel Dekker Inc* (2000).
- [2] Dinh Cong Huong, Oscillation and Convergence for a Neutral Difference Equation, *VNU Journal of Science, Mathematics - Physics* 24 (2008) 133.
- [3] I.G.E. Kordonis, C.G. Philos, Oscillation of neutral difference equation with periodic coefficients, *Computers. Math. Applic.* Vol. 33 (1997) 11.
- [4] B.S. Lalli, B.G. Zhang, J.Z. Li, On the oscillation of solutions and existence of positive solutions of neutral delay difference equation, *J. Math. Anal. Appl.* Vol. 158 (1991) 11.
- [5] B.S. Lalli, B.G. Zhang, On existence of positive solutions bounded oscillations for neutral delay difference equation, *J. Math. Anal. Appl.* Vol. 166 (1992) 272.
- [6] B.S. Lalli, B.G. Zhang, Oscillation and comparison theorems for certain neutral delay difference equation, *J. Austral. Math. Soc.* Vol. 34 (1992) 245.
- [7] B.S. Lalli, Oscillation theorems for certain neutral delay difference equation, *Computers. Math. Appl.* Vol. 28 (1994) 191.